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WBPSC Food SI Exam. – Practice Set
Answer with Explanation

1. (c) þ“þîûöìœ ö„þyöì̃ y þ™”yíÅ oî#¦)þ“þ íy„þöìœ– ç£z oîöì’îû ßþ³%þÝþ˜yBþ
›)œ “þîûöìœîû ßþ³%þÝþ˜yöìBþîû ö‰þöìëû öî!Ÿ £ëûÐ öë›˜– ²Ì›y’
‰þyöìþ™ !îÖkþ ‹öìœîû ßþ³%þÝþ˜yBþ 100ºC !„þlsþ ‹öìœ ¢y•yîû’
œî’ oî#¦)þ“þ íy„þöìœ ç£z oîöì’îû ßþ³%þÝþ˜yBþ ²Ìyëû 9ºC öîöìvþü
ëyëûÐ

2. (a) öÝþ!œöìšþyöì̃ îû ö²Ìîû„þ ëöìsþfîû „þyöìŠé „þíy îœöìœ– çîû •y“þî
vþyëûšÊþy› „¤þyþ™öì“þ íyöì„þÐ ~îû šþöìœ vþyëûyšÊþyöì›îû „þyöìŠé îûy…y
‰%þÁºöì„þîû îœöìîû…yîû þ™!îûî“Åþ˜ ‡öìÝþÐ ~£z¦þyöìî ö‰þïÁº„þ îœöìîû…yîû
þ™!îûî“þÅöì̃ îû šþöìœ çîû ›öì•Ä îûy…y þ™!îûîy£# “þyöìîûîû ›öì•Ä
!”öìëû “þ!vþüê ²Ìîy£ £ëûÐ

3. (c) 1982 ¢yöìœîû ‹%œy£zöìëû NABARD †!àþ“þ £ëûÐ ~£z
²Ì!“þÛþy˜ „,þ!¡ ì}’ ¢Á™„Åþë%_« ¢›hßþ ”yëû¦þyîû ¦þyîû“þ#ëû !îû‹y¦Åþ
îÄyöìBþîû „þyŠé öíöì„þ !˜öìëû ö˜ëûÐ ~îû „þy‹=!œ £œéôôôé @ùÌy›#’
öÇþöìe }’”yöì̃  Ÿ#¡ìÅ ¢‚ßþiy !£¢yöìî „þy‹ „þöìîû– NABARD
îûy‹Ä ¢›îyëû îÄyöìBþ ßþºÒ„þyœ#˜ }’ !”öìëû íyöì„þ– îûy‹Ä ¢›îyëû
îÄyBþ ç xyMþé!œ„þ @ùÌy›#’ îÄyBþöì„þ „,þ!¡ì„þyöì‹îû ‹˜Ä ›•Ä„þyœ#˜
}’ !”öìëû íyöì„þ ~î‚ „,þ!¡ìöì“þ œ!@À „þîûyîû ‹˜Ä îûy‹Ä ‹!›
vþz§¬ëû̃  îÄyBþ– îûy‹Ä ¢›îyëû îÄyBþ– xyMþé!œ„þ @ùÌy›#’ îÄyBþ ç
îy!’!‹Ä„þ îÄyBþ=!œöì„þ ”#‡Å„þyœ#˜ }’ !”öìëû íyöì„þÐ

4. (b) 1932 ¢yöìœ ö”îûy”%öì̃  £z!uþëûy˜ !›!ìœÝþy!îû xÄy„þyöìvþ!› ²Ì!“þ!Ûþ“þ
£ëûÐ ~!Ýþ ¦þyîû“þ#ëû ö¢˜yîy!£˜#îû x!šþ¢yîûöì”îû ²Ì!ŸÇþ’ ö„þwÐ

5. (b) ¢Á±!“þ !£›y‰þœ ²Ìöì”öìŸîû îy…öìœyöì“þ  ²Ìí› ¦þy!ÝÅþ„þÄyœ vþz£zuþ
Ýþyöì̃ œ (VWT) ‰þyœ% £œÐ ~!Ýþ ¦þyîûöì“þîû ö¢˜yîy!£˜# „þ“Å,þ„þ
‰þyœ% „þîûy ¦þyîûöì“þîû ²Ìí› ¦þy!ÝÅþ„þÄyœ vþz£zuþ Ýþyöì̃ œÐ

6. (c) ö›y›îy!“þ £œ „þyîÅ̃  ~î‚ £y£zöìvÈþyöì‹˜ ‡!Ýþ“þ öëï†Ð ~öì„þ
îy“þyöì¢ ”£˜ „þîûöìœ– ö›yöì›îû îûy¢yëû!˜„þ þ™!îûî“Åþ˜ ‡öìÝþ
CO
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Oéôéö“þ þ™!îû’“þ £ëûÐ ~£z¦þyöìî ö›y› x˜Ä

•›Å!î!ŸÜT þ™”yöìíÅ þ™!îû’“þ £ëûÐ
7. (b) ‹œ ¦þ!“Åþ íy„þyëû– ‹œþ™)’Å „¤þy¢yîû @Õyöì¢ xy‡y“þ „þîûöìœ

@Õy¢!Ýþîû „þÁ™˜ !îhßþyîû „þ› £öìî– “þy£z çîû öíöì„þ vþzêþ™§¬
Ÿöì·îû ²ÌyîœÄ „þ› £öìîÐ xþ™îû @Õy¢!Ýþ öëöì£“%þ …y!œ íyöì„þ–
“þy£z çöì“þ ~„þ£z ö‹yöìîû xy‡y“þ „þîûöìœ çîû „þÁ™˜ !îhßþyîû
öî!Ÿ £öìîÐ “þy£z …y!œ @Õy¢ öíöì„þ vþzêþ™§¬ Ÿöì·îû ²ÌyîœÄ
öî!Ÿ £öìîÐ

8. (c) ‹y›Åy˜ !¢œ¦þyöìîû 50 Ÿ“þy‚Ÿ “þy›y– 30 Ÿ“þy‚Ÿ !‹Bþ ç
20 Ÿ“þy‚Ÿ !˜öì„þœ íyöì„þÐ îy¢˜þ™e– š%þœ”y!˜ ~î‚ ˜y˜yîû„þ›
öŸï!…˜oîÄ ²Ìlßþ!“þöì“þ ‹y›Åy˜ !¢œ¦þyîû îÄî£yîû „þîûy £ëûÐ

9. (d) 1809 ¢yöìœ îû’!‹ê !¢‚£ ç £z‚öìîû‹ £zÞÝþ £z!uþëûy ö„þyÁ™y!˜îû
›öì•Ä x›,“þ¢öìîûîû ¢!õþ ßþºyÇþ!îû“þ £ëûÐ ~£z ¢!õþîû Ÿ“Åþ=!œéôôôé
Ÿ“þo& ˜”#îû þ™!Øþ› “þ#îû þ™ëÅhsþ îû’!‹ê !¢‚öì£îû îûy‹Ä¢#›y

!˜!”ÅÜT £ëû– Ÿ“þo&îû þ™)îÅ “þ#öìîûîû !Ÿ… !›¢œ=!œ £z‚öìîû‹öì”îû
xy˜%†“þÄ ßþº#„þyîû „þîûöìœ– ö¢…yöì̃  £z‚öìîû‹ ÷¢˜Ä ö›y“þyöìëû̃
„þîûy £ëû ~î‚ !ßþiîû £ëû vþz¦þëûþ™Çþ ßþiyëû# ÷›e# î‹yëû îûy…öìîÐ

10. (b) ¢Á±!“þ ²Ìëûy“þ !œ ö„þ!„þëûy‚ ‰þ#˜ ö”öìŸîû ²Ìy_«˜ ²Ì•y˜›sþf#
!Šéöìœ˜Ð !“þ!˜ 2013 öíöì„þ 2023 ¢yöìœîû ›y‰Åþ ›y¢ xî!•
‰þ#öì̃ îû ²Ì•y˜›sþf# !£¢yöìî ”y!ëûc ™yœ˜ „þöìîûöìŠé˜Ð

11. (b) !‰þÍñy £œ ¦þyîûöì“þîû œî’y_« £É”Ð ¦þyîûöì“þîû þ™)îÅ vþzþ™„)þöìœîû
îûy‹Ä ç!vþüŸyîû †Oy›– …%îû”y ç þ™%îû# ö‹œy þ™ëÅhsþ Šé!vþüöìëû
îûöìëûöìŠé !‰þÍñy £É”Ð ~!Ýþîû xyëû“þ˜ ²Ìyëû 1100 î†Å!„þöìœy!›ÝþyîûÐ

12. (a) 23 ö¢öì²WzÁºîû þ™,!íî# !˜öì‹îû „þÇþþ™öìí ~›˜ xîßþiyëû xyöì¢
þ™,!íî#îû ¢îÅe ç ¢î xÇþöìîû…yëû 12 ‡ ù̂Ýþy !”˜ ç 12 ‡ ù̂Ýþy
îûy!e £ëûÐ ~£z !”˜ vþz¦þëû ö›îû& öíöì„þ ¢)ëÅöì„þ 24 ‡ ù̂Ýþy£z
!”†hsþ öîû…y îîûyîîû ö”…y ëyëûÐ

13. (b) ¦þyîûöì“þîû !î²Õî#öì”îû !£‚¢yd„þ „þyëÅ„þœyþ™ ç ‹y“þ#ëû
xyöì̈ yœ˜ ”›öì̃ îû œöìÇþÄ !îÊ!ÝþŸ !î‰þyîûþ™!“þ ¢Äyîû !¢vþ!˜
îûyçœyöìÝþîû ¢¦þyþ™!“þöìc þ™¤y‰þ ¢”¢Ä!î!ŸÜT !¢!vþŸ˜ „þ!›!Ýþ
îy îûyçœyÝþ „þ!›!Ýþ †!àþ“þ £ëûÐ 1919 ¢yöìœ 18 ›y‰Åþ ~£z
„þ!›!Ýþîû öþ™Ÿ „þîûy ¢%þ™y!îûŸ=!œ òîûyçœyÝþ xy£z̃ ó ˜yöì›
þ™!îû!‰þ“þÐ

14. (c) xyöì›!îû„þy ë%_«îûyöìÜTÉîû „þÄy!œöìšþy! Å̃ëûyîû ¢ÄyrÝþy„Ïþyîûy ¦þÄy!œ “þíy
!¢!œ„þ˜ ¦þÄy!œéôéîû x˜%„þîûöì’ †öìvþü çàþy ¦þyîûöì“þîû î,£_›
£zöìœ„þÝþÆ!˜„þ¢ !ŸÒöì„þw öîDyœ%îû&öì„þ ò¦þyîûöì“þîû !¢!œ„þ˜
¦þÄy!œó ˜yöì› x!¦þ!£“þ „þîûy £ëûÐ

15. (d) ¢Á±!“þ !îöìÙ»îû ²Ìí› ‰þ#˜ ö”öìŸ ëye#îy£# šÏþy!ëû‚ ÝþÄy!:
þ™!îûöì¡ìîy ‰þyœ% £öìëûöìŠé ëyîû ˜y› ö”çëûy £öìëûöìŠééôé'Ehang's
EH216-S'.

16. (b) 1912 ¢yöìœ 23 !vþöì¢Áºîû „þœ„þy“þyîû þ™!îûîöì“Åþ !”!ÍÔöì„þ
¦þyîûöì“þîû îûy‹•y˜# !£öì¢öìî vþzöìmy•öì̃ îû !”öì̃  îöìvþüyœyÝþ œvÅþ
£y!vÅþOöì„þ îûy¢!î£yîû# £“þÄyîû þ™!îû„þÒ˜y „þöìîû̃ Ð “¤þyîû !˜öì”ÅöìŸ
î¢hsþ !îÙ»y¢ £y!vÅþöìOîû çþ™îû öîy›y Šé¤%vþüöìœç £y!vÅþO ²Ìyöì’
öî¤öì‰þ ëy˜Ð 1914 ¢yöìœ Öîû& £ëû !”!ÍÔ ¡ìvþüësþf ›y›œyÐ

17. (a) „þyÙÂ#öìîû ²Ì•y˜ !£›yœöìëûîû vþz_öìîû ²Ìyëû 350 !„þ!› ”#‡Å œy”y…
þ™îÅ“þöì×!’ xî!ßþi“þÐ ~£z þ™îÅ“þöì×!’öì“þ xöì̃ „þ=!œ 6000
!›Ýþyöìîûîûç öî!Ÿ vþz¤‰%þ Ÿ,D xyöìŠéÐ ~£z þ™îÅöì“þîû vþz_îûéôéþ™)öìîÅ
îûöìëûöìŠé œy”y… ›yœ¦)þ!›Ð ~!Ýþîû †vþü vþzF‰þ“þy 4000 !›Ýþyöìîûîûç
öî!ŸÐ

18. (d) |˜!î‚Ÿ Ÿ“þöì„þîû !m“þ#ëûyöì•Å ¦þyîûöì“þîû !îÊ!ÝþŸ Ÿy¢˜„þyöìœ
‹y“þ#ëû“þyîy”# ˜yÝþ„þ îû‰þ˜y „þöìîû !îÊ!ÝþŸöì”îû öŸy¡ì’ ç
xþ™Ÿy¢öì̃ îû !îîû&öìkþ ‹˜›“þ ¢‚†!àþ“þ £ëûÐ 1876 ¢yöìœ
14 ›y‰Åþ îöìvþüyœyÝþ œvÅþ ˜íÅîÊ&„þ ò‹†”y˜¨ ç ë%îîûy‹ó ˜yÝþ„þöì„þ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 11– £z¢%Ä éôé 9  ‹y %̃ëûy!îû– 20242

ö„þw „þöìîû ˜yÝþÄy!¦þ˜ëû !˜ëûsþf’ xy£z̃  ‹y!îû „þöìîû ö”Ÿydöìîy•
˜yÝþöì„þîû ²Ì‰þyîû îõþ „þöìîû ö”ëûÐ

19. (a) 1893 ¢yöìœîû 11 ö¢öì²WzÁºîû !Ÿ„þyöì†y •›Å#ëû ¢öìÁ¿œöì̃  ßþºy›#
!îöìî„þy˜¨ !î…Äy“þ ¦þy¡ì’ ö”˜Ð “¤þyîû ¦þy¡ìöì’îû ›y•Äöì› !“þ!˜
!£ %̈ •›Åöì„þ “%þöìœ •öìîû̃ Ð

20. (c) ¢Á±!“þ BHEL-~îû !¢~›!vþ !£¢yöìî !˜ë%_« £öìëûöìŠé˜ ö„þ
~¢ ›)!“ÅþÐ !“þ!˜ ~£z þ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû# ˜!œ˜ !¢A‡öìœîû
ßþiœy!¦þ!¡ì_« £öìëûöìŠé˜Ð

21. (b) ¢%œ“þy˜ xy‹œy˜ Ÿy£ „þyþ™ þ™%îû&¡ìöì”îû xyhsþ‹Åy!“þ„þ £!„þ
Ý%þ Å̃yöì›öìrÝþîû ¢öìD ‹!vþü“þÐ ²Ì!“þ îŠéîû ›yœöìëû!Ÿëûyëû xyöìëûy!‹“þ
£ëûÐ 1983 ¢yöìœ ~!Ýþ Öîû& £öìëû!ŠéœÐ ›yœöìëû!Ÿëûyîû ˜î›
îûy‹y ¢%œ“þy˜ xy‹œy˜ Ÿy£îû ˜y› x˜%¢yöìîû ~£z Ý%þ˜Åyöì›öìrÝþîû
˜y› ö”çëûy £öìëûöìŠéÐ

22. (a)þ ™,!íî#îû !˜îûÇþ#ëû xMþéöìœîû îÄyöì¢îû ÷”‡ÅÄ £œ 12,757 !„þ!›Ð
!˜îûÇþöìîû…yîû ›y˜ £œ 0ºÐ

23. (d) 23 ö¢öì²WzÁºîû “þy!îûöì… Ÿîûê„þyœ#˜ !î¡ì%î (autumnal
equinox) £öìëû íyöì„þÐ ¢)ëÅ !˜îûÇþöìîû…yîû çþ™îû îŠéöìîû ”%îyîû
œÁº¦þyöìî !„þîû’ ö”ëû– šþöìœ îŠéöìîû ”%îyîû !˜îûÇþöìîû…yëû
!”˜îûy!e ¢›y˜ £ëû íyöì„þ– ëíy 21›y‰Åþ ~î‚ 23 ö¢öì²WzÁºîûÐ

24. (c) !¢!‹!†öì“þ ‰¤þy”– ¢)ëÅ ç þ™,!íî#îû xîßþiy˜ íyöì„þéôôôé180ºÐ
25. (c) ¢Á±!“þ ²Ì„þy!Ÿ“þ 'Nilavu Kudicha Simhangal' ˜y›„þ

xyd‹#î˜#›)œ„þ @ùÌöìsþiîû îû‰þ!ëû“þy £öìœ˜ ~¢ !þ™ ö¢y›˜yíÐ
!“þ!˜ î“Åþ›yöì̃   ¦þyîûöì“þîû ›£y„þyŸ †öìî¡ì’y ¢‚ßþiy £z¢öìîûyóîû
ö‰þëûyîû›Äy˜ !£¢yöìî !˜ë%_« xyöìŠé˜Ð

26. (c) †’þ™!îû¡ìöì”îû ¢”¢Ä ë¤yîûy ¢‚!î•yöì̃ îû …¢vþüy îû‰þ˜y „þöìîû̃ –
“þ¤yîûy !Šéöìœ˜éôôôé!î!¦þ§¬ xMþéöìœîû !î•y˜¢¦þy myîûy !˜îÅy!‰þ“
¢”¢Ä†’Ð

27. þ(a) †’þ™!îû¡ìöì”îû ²Ìí› ¢¦þyîû „þyëÅ!˜îÅy£# ¢¦þyþ™!“þ þ™öì” vþ.
¢!F‰þ”y˜¨ !¢˜ä£yîû ˜y› ²Ìhßþyî „þöìîû̃ éôôôé ö‹ !î „,þþ™yœ!˜Ð
†’þ™!îû¡ìöì”îû ²Ìí›  ßþiyëû# ¢¦þyþ™!“þ £öìœ˜ îûyöì‹w ²Ì¢y”Ð

28. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû öë ö„þyöì̃ y !î¡ìöìëû îÄy…Äy „þîûyîû ‰)þvþüyhsþ
x!•„þyîû xyöìŠééôôô¢%!²Ì› ö„þyöìÝÅþîûÐ ¢%!²Ì› ö„þyÝÅþ ¦þyîûöì“þîû ¢öìîÅyF‰þ
!î‰þyîûyœëûÐ î“Åþ›yöì̃  ¢%!²Ì› ö„þyöìÝÅþîû ²Ì•y˜ !î‰þyîûþ™!“þ !£¢yöìî
!˜ë%_« xyöìŠé˜ !vþ çëûy£zz ‰þw‰)þvþüÐ

29. (a) öœy„þ¢¦þyîû ö›ëûy” öŸ¡ì £çëûyîû þ™)öìîÅ£z îûyÜTÉþ™!“þ ²Ì•y˜›sþf#îû
þ™îûy›öìŸÅ öœy„þ¢¦þy ö¦þöìˆ !”öì“þ þ™yöìîû˜Ð ²Ì•y˜›sþf#
£öìœ˜ öœy„þ¢¦þyîû ²Ì•y˜ ö˜“þyÐ öœy„þ¢¦þyîû !˜îÅy!‰þ“þ
¢y‚¢”öì”îû ›•Ä öíöì„þ ~„þ‹˜öì„þ ²Ì•y˜›sþf# !£¢yöìî !˜ë%_«
„þöìîû̃ Ð

30. (d) ¢Á±!“þ Gþyvþü…[þ îûy‹Ä ¢îû„þyîû ¢yîûy îûy‹Ä‹%öìvþü 8 œÇþ þ™y„þy
îy!vþü ÷“þ!îû „þîûöì“þ òxyî%ëûy xyîy¢ öëy‹˜yó ‰þyœ% „þîûöì“þ
‰þöìœöìŠéÐ

31. þ(b) ¢%œ“þy˜ !†ëûy¢vþz!j˜ îœî˜ 1266 ¢yöìœ !”!ÍÔîû !¢‚£y¢öì̃
îöì¢˜ ~î‚ 1286 ¢yœ xî!• !¢‚£y¢öì̃  x!•!Ûþ“þ !Šéöìœ˜Ð

32. (c) 78 !…ÊÞÝþyì· öíöì„þ òŸ„þy·ó ˜y›„þ ¢Áº“þ ²Ì‰þœ˜ £öìëû!ŠéœÐ
„%þ¡ìy’ î‚öìŸîû Ÿy¢„þ „þ!˜öìÜñîû Ÿy¢˜„þyœ öíöì„þ ~!Ýþ ‰þyœ%
£öìëû!ŠéœÐ

33. (c) ö„þy˜ …yöì”Äîû …y”Ä=˜ öþ™!Ÿöì“þ @Õy£zöì„þyöì‹˜ !£¢yöìî ¢!Mþé“þ
£öìëû íyöì„þÐ

34. (d) CFC îÄî£*“þ £ëûéôôôé!£›yëû„þ ëöìsþfÐ CFC „þíy!Ýþóîû þ™%öìîûy
xíÅ £œéôéö„Ïþyöìîûy šÏ$þöìîûy „þyîÅ̃ Ð ~!Ýþ ~„ •îûöì’îû !@ùÌ˜ £yvþz¢
†Äy¢Ð

35. (b) ¢Á±!“þ ¦þyîûöì“þîû !‰þšþ £z̃ šþîûöì›Ÿ˜ „þ!›Ÿ˜yîû !£¢yöìî !˜ë%_«
£öìœ˜ £#îûyœyœ ¢y›y!îûëûyÐ !“þ!˜ ~£z þ™öì” þ™)îÅî“þÅ# þ™”y!•„þy!îû
çëûy£z ö„þ !¢˜£yóîû ßþiœy!¦þ¡ì!¡ì_« £öìœ˜Ð

36. (c) „þ‚öì@ùÌöì¢îû !eþ™%îû# x!•öìîŸöì̃ îû S1939 ¢yöìœV ¢¦þyþ™!“þ
þ™öì” ¢%¦þy¡ì‰þw î¢%îû ²Ì!“þm µ̈# !Šéöìœ˜ †yõþ#!‹îû ›öì̃ y˜#“þ
²ÌyíÅ# þ™R!¦þ ¢#“þyîûy›y£zëûyÐ

37. þ(c) xöìëûœ xšþ !¦þ!ÝþÆëûœ ˜yöì› þ™!îû!‰þ“þ xÄy!¢vþ!Ýþ £œéôôôé
¢yœ!šþvþz!îû„þ xÄy!¢vþ– ëyîû ¢‚öì„þ“þ £œéôé H

2
SO

4
Ð

38. (a) !¢›%„þ– ¢y“þîy£˜ î‚öìŸîû ²Ì!“þÛþy „þöìîû!Šéöìœ˜Ð ¢y“þîy£˜
î‚öìŸîû ö×Ûþ Ÿy¢„þ £öìœ˜ ö†ï“þ›#þ™%e ¢y“þ„þ’Å#Ð

39. (d) 1192 ¢yöìœ  ›£Á¿” ö‡y!îû ç þ™,í#́îûyöì‹îû ›öì•Ä “þîûy£zöì̃ îû
!m“þ#ëû ë%kþ ¢‚‡!Ýþ“þ £öìëû!ŠéœÐ ~é£z ë%öìkþ ›£Á¿” ö‡y!îû
‹ëûœy¦þ „þöìîû!ŠéœÐ

40. (d) 10 ˜öì¦þÁºîû ¢yîûy !îÙ»‹%öìvþü çëûyÓÅþ ¢yöìëûª þ™y!œ“þ £œ–
ëyîû ~îŠéöìîûîû !í› £œéôé'Bulding Trust in Sciene'.

41. (d) þþ™y!…îû þ™yöìëûîû ›“þ xy„,þ!“þîû îéôém#þ™ ö”…y ëyëûéôôôé!›!¢!¢!þ™
!›öì¢ï!îû ˜”#îû ö›y£˜yëûÐ ~!Ýþ ›y!„Åþ˜ ë%_«îûyöìÜTÉîû ”#‡Å“þ›
˜”#– ëyîû ÷”‡ÅÄ £œéôé6270 !„þ!›Ð

42. (c) ¦þyöìßþñyéôé”yéôé†y›y 1498 ¢yöìœîû 17 ö› ¦þyîûöì“þîû „þy!œ„þÝþ
î¨öìîû öþ™¤ïöìŠé!Šéöìœ˜Ð !“þ!˜ ~„þ‹˜ þ™“Å%þ†#‹ ˜y!î„þ !Šéöìœ˜Ð

43. (d) 1853 !…ÊÞÝþyöì· „þœ„þy“þy öíöì„þ xy@ùÌy þ™ëÅhsþ öÝþ!œ@ùÌyšþ
œy£z̃  ‰þyœ% £ëûÐ ²Ì¢D“þ vþzöìÍÔ…Ä– 1853 !…ÊÞÝþyöì· ¦þyîûöì“þîû
œvÅþ vþyœöì£ï!¢îû xy›öìœ ¦þyîûöì“þ ²Ìí› öîûœþ™íç ‰þyœ% £ëûÐ

44. (a)þòîûy‹yîœ#ó @ùÌsþi!Ýþîû îû‰þ!ëû“þy £öìœ˜ ›,“%þÄOëû !î”ÄyœBþyîûÐ “¤þyîû
öœ…y x˜Äy˜Ä @ùÌsþi=!œ £œéôé î!eŸ !¢‚£y¢˜– !£öì“þyþ™öì”Ÿ–
öî”yhsþ  ‰þ!w„þy– ²Ìöìîy•‰þ!w„þy ²Ì¦,þ!“þÐ

45. (b) ¢Á±!“þ ç!vþŸyîû „þ!œD öÞÝþ!vþëûyöì› ç!vþŸy îûy‹Ä ¢îû„þyîû
ö…y ö…y ö…œyîû ‹˜Ä £y£z þ™yîûšþîû›Äyª ö¢rÝþyîû †öìvþü “%þœöì“þ
‰þöìœöìŠéÐ

46. þ(d) BIO-GASéôé~îû ²Ì•y˜ vþzþ™y”y˜ £œéôôôé!›öìí˜ ëyîû ¢‚öì„þ“þ
£œéôéCH

4
Ð

47. (d) 1991 ¢yöìœîû 13 ~!²Ìœ ‹y!œëûy˜çëûyœyîyöì†îû £“þÄy„þy[þ
‡öìÝþ!ŠéœÐ ~£z ˜yîû„þ#ëû ‡Ýþ˜yîû ²Ì!“þîyöì” !îÙ»„þ!î îûî#w˜yí
àþy„%þîû !îÊ!ÝþŸöì”îû ö”çëûy ˜y£zÝþ vþzþ™y!• “þÄy† „þöìîû!Šéöìœ˜Ð

48. (d) ö›!”˜#þ™%öìîûîû ßþºy•#˜“þy ¢‚@ùÌy›# ö˜e# ›y“þ!D˜# £y‹îûy 1942
¢yöìœ ¢‚†!àþ“þ xy†ÞÝþ xyöì¨yœ˜ îy ¦þyîû“þ Šéyöìvþüy
xyöì̈ yœöì̃ ²Ìy’ !î¢‹Å̃  !”öìëû!Šéöìœ˜Ð

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



3Achievers
49. (a) ¢y•yîû’“þ @ùÌ#Ü¿„þyöìœ þ‹y!ëû” Ÿ¢Ä ‰þy¡ì £ëûÐ …y!îûšþ ç îû!î

Ÿöì¢Äîû ›yGþy›y!Gþ ¢›öìëû ~£z šþ¢öìœîû ‰þy¡ì „þîûy £öìëû íyöì„þÐ
50. (c) ¢Á±!“þ ²Ìëûy“þ ¢%îÊ“þ îûyëû ò¢y£yîûy £z!uþëûy þ™!îûîyîûó @ùÌ&öìþ™îû

²Ì!“þÛþy“þy ö‰þëûyîû›Äy˜ !Šéöìœ˜Ð !“þ!˜ ò¢y£yîûy×#ó ˜yöì› x!•„þ
þ™!îû!‰þ“þ !Šéöìœ˜Ð

51. (b)  ¦þy†šþœ = 16

 ¦þy‹„þ = 25  ¦þy†šþœ = 25  16 = 400

~…˜– ¦þy†öìŸ¡ì = 1
5  ¦þy‹„þ = 1

5  400 = 80

¢%“þîûy‚, ¦þy‹Ä = ¦þy‹„þ  ¦þy†šþœ + ¦þy†öìŸ¡ì
= 400 16 + 80
 = 6400 + 80 = 6480

52. (a) !˜öì’Åëû ¢‚…Äy = (73 – 25), (97 – 25) ~î‚ (97 – 73)
~îû  †.¢y.=
= 48, 72 ç 24éô~îû †.¢y.= = 24

53. (d) 3 31 1 114 12 3 6 3
4 6 8 12 2
   

= 59 73 25 75 7
4 6 8 12 2
   

= 59 73 25 712
4 6 8 75 2
   

= 177 115 15
12 6
 

54. (b) 0.9 = 0.9000 ...

0.9 = 0.9999 ...

0.09  = 0.0999 ...

0.09  = 0.0909 ...

 0.9 £œ î,£_›
55. (c)  x = 40%

 !˜öì’Åëû Ÿ“þy‚Ÿ = x 100%
100 x




= 40 100%
100 40




= 40 100 2% 66 %
60 3
 

56. (d)  A
1
 = `880, A

2
 = `920 ~î‚ t

1
 = 2 îŠéîû,

t
2
 = 3 îŠéîû
 1 îŠéöìîûîû ¢%” = `(920 – 880) = `40

 2 îŠéöìîûîû ¢%” = `80

›)œ•˜ = `(880 – 80) = `800

57. (d)
15
  x

1/3
1

7
5

öœy„þ¢‚…Äy „þy‹ !”˜

1:1
3 ::15 : x
5:7





 1x 5 15 7 1
3
    

 15 7 3x 63
5
  

58. (c) •!îû– oöìîÄîû e«ëû›)œÄ = x
524 – x = x – 452
 2x = 524 + 452  x = 976/2 = 488

59. (a) 5 !Ýþ öþ™˜!¢öìœîû e«ëû›)œÄ = `1

 1 !Ýþ öþ™˜!¢öìœîû e«ëû›)œÄ= ` 1
5 –

3 !Ýþ öþ™˜!¢öìœîû !îe«ëû›)œÄ = `1

 1 !Ýþ öþ™˜!¢öìœîû !îe«ëû›)œÄ = ` 1
3

 œy¦þ = SP – CP = `  1 1
3 5
 = `  5 3

15
 = ` 2

15

Ÿ“þ„þîûy œy¦þ 2 5 2100 66 %
15 1 3
   

60. (d) •!îû– öÝþÆöì̃ îû ÷”‡ÅÄ = x !›

²ÌÙÀy˜%¢yöìîû– x 50 x
14 10
 

10x + 500 = 14x
4x = 500  x = 125 !›

 öÝþÆöì̃ îû †!“þöìî† = 125 18 45
10 5
  !„þ!›/‡

61. (a) •!îû– £z̈ %öì‹îû îëû¢ = x îŠéîû
!˜„%þöìOîû îëû¢ = 2x îŠéîû
²ÌÙÀy˜%¢yöìîû–
x + 2x = 24  x = 24/3 = 8
 !˜„%þöìOîû îëû¢ = 2  8 = 16 îŠéîû

62. (d) CA 2 B 4 2, ,
B 5 C 3 D 1
  

 A : B : C : D
= 2  4  2 : 5  4  2 : 5  3  2 : 5  3  1
 A : B : C : D = 16 : 40 : 30 : 15
~…yöì̃ , A : C : D = 16 : 30 : 15

63. (c) •!îû– ²Ì„,þ“þ ›)œÄ x Ýþy„þy/ö„þ!‹
£Éy¢²Ìy® ›)œÄ = `(x ~îû 80%)

= `  80 x
100
 = ` 4x

5 ²Ì!“þ ö„þ!‹

~…˜
 
120 120 3

x4x
5

 

 120 5 120 3
4x x
      150 120 3

x x
 

 3x = (150 – 120) = 30  x = 10
²Ì„,þ“þ ›)œÄþ = `10 ²Ì!“þ ö„þ!‹

64. (c) ~„þ!Ýþ xyëû“þy„þyîû ‡öìîûîû ‰þyîû ö”çëûyöìœîû ö›yÝþ öÇþešþœ

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 11– £z¢%Ä éôé 9  ‹y %̃ëûy!îû– 20244

= 2(÷”‡ÅÄ + ²Ìßþi) × vþzF‰þ“þy
‡îû!Ýþîû þ™!îû¢#›y = 2(÷”‡ÅÄ + ²Ìßþi) = 18 !›Ýþyîû
 öÇþešþœ = 18 × 3 = 54 î†Å!›Ýþyîû

65. (a) A ç B ~îû ”Çþ“þyîû x˜%þ™y“þ
= 100 : 125 = 4 : 5
¢›öìëûîû x˜%þ™y“þ = 5 : 4

 B ~îû ²Ìöìëûy‹˜#ëû ¢›ëûþ 6 4 24 44
5 5 5
   !”˜

66. (c) •!îû– î†Åy„þyîû vþzöìàþyöì̃ ²Ì!“þ!Ýþ îyýîû ÷”‡ÅÄ = x !›Ýþyîû
“þy£öìœ– ²ÌÙÀy˜%¢yöìîû
(x + 4 + 4)2 – (x)2 = 196
(x +8)2 – x2 = 196
x2 + 64 + 16x – x2 = 196

4
x

(x+4+4)

16x = 196 – 64 = 132

132
x 8.25

16
  

 x =  8.25 !›Ýþyîû
67. (a) •!îû– e«ëû›)œÄþ= `5x ~î‚ !îe«ëû›)œÄ =þ `4x

Çþ!“þ = e«ëû›)œÄ – !îe«ëû›)œÄþ = 5x – 4x = `x

 Ÿ“þ„þîûy Çþ!“þ =
Çþ!“þ

e«ëû›)œÄ
 100%

  = 100x 100% % 20%
5x 5
  

68. (b) ~…yöì̃ x˜%„)þöìœ †!“þöìî†

18x 4.5
4
  !„þ!›/‡

 ²Ì!“þ„)þöìœ †!“þöìî† 18y 1.5
12
  !„þ!›/‡

 ößþËyöì“þîû †!“þöìî†
x y 4.5 1.5 3 1.5

2 2 2
     !„þ!›/‡

69. (d) ßþ™ÜT“þ£z– 5 £œ vþz_îû öëöì£“%þ x¢#› þ™ëÅhsþ î†Å›)œ îûöìëûöìŠéÐ
70. (a) 6, 8, 12 ~î‚ 18 ~îû œ.¢y.= = 72

“þyîûy ~„þ¢öìD 72 ö¢öì„þuþ þ™îû ~„þ¢yöìí îy‹öìîÐ
71. (a) ²Ì”_ îûy!Ÿ›yœy!Ýþ £œ

1 1 1 1...
5 6 6 7 7 8 24 25
    
   

=        1 1 1 1 1 1 1 1– – – ... –
5 6 6 7 7 8 24 25

   

= 1 1 5 –1 4–
5 25 25 25

  = 0.16

72. (a) 0.6 0.7 0.8 0.13  

=
6 7 13
9 9 9 99

  

= 66 77 88 13
99

  

= 244 2.46
99


73. (a) ‰þyîû xöìBþîû î,£_› ¢‚…Äy!Ýþ £œ = 9999
!“þ˜ xöìBþîû Ç%þo“þ› ¢‚…Äy!Ýþ £œ = 100
~öì”îû ›öì•Ä þ™yíÅ„þÄ = 9999 – 100 = 9899

74. (d) ”%£z‹˜ ²ÌyíÅ#îû ›öì•Ä ~„þ!Ýþ !˜îÅy‰þöì̃  öë ö›yÝþ ö¦þyöìÝþîû x%
ö¦þyÝþ öþ™öìëûöìŠé– ö¢ a ö¦þyöìÝþ þ™îûy!‹“þ £öìëûöìŠéÐ “þy£öìœ–
²ÌÙÀy˜%¢yöìîûéôôôé
100 – 2x = a
 100 – 2 × 40 = 15000
 20% = 15000

 100% = 15000
20  × 100 = 75000

!î‹ëû# ²ÌyíÅ# ö›yÝþ ö¦þyÝþ öþ™öìëûöìŠé

= 75000 ×
60

100  = 45000

75. (a) m!Ýþ !‹!˜öì¢îû e«ëû›)œÄ– n!Ýþ !‹!˜öì¢îû !îe«ëû›)öìœÄîû ¢öìD
¢›y˜Ð ¢%“þîûy‚– Ÿ“þ„þîûy Çþ!“þîû £yîû £œ

= n – m 100
n


= 11– 9 2100 18 %
11 11
 

76. (b) 400  2R1 441
100
 

  2R 4411
100 400
 

    2 2
R 211

100 20
 

    2 2
R 11 1

100 20
  


R 1

100 20
  R = 5%

77. (a) •!îû– A, B ~î‚ Côé~îû ›y!¢„þ öî“þ˜=!œ £œ ëíye«öì›
2x, 3x ~î‚ 5xÐ
5x = 2x + 1200  x = 400 Ýþy„þy
¢%“þîûy‚– B ~îû îy!¡ìÅ„þ öî“þ˜ £œ = 3 × 400 × 12

       = 14400 Ýþy„þy
78. (c) †!“þöìî† = 120 !„þ!›/‡ ù̂Ýþy– ¢›ëû = 15 ö¢öì„þuþ

÷”‡ÅÄ = x!“þe«yhsþ ”)îûc × ¢›ëû

=  5120 15
18
 

= 500 !›ÝþyîûÐ

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å
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79. (a) ~…˜–
3 3

2 2

(0.73) (0.27)
(0.73) (0.27) – (0.73) (0.27)


 

= 0.73 + 0.27 = 1

80. (a)
3 3 3

33 3
3

12 512 2 2 24
125 125 5

  

= 2 2 2 8 31
5 5 5
   

81. (d) •!îû– ¢‚…Äy ”%!Ýþ £œ 36a ~î‚ 36bÐ
~…˜– 36a × 36b = 12960
 a × b = 10
(1, 10) ~î‚ (2, 5) £œ þ™îûßþ™îû ö›ï!œ„þ ¢‚…Äy ëyöì”îû
=’šþœ £œ 10Ð ¢%“þîûy‚– ¢½þyîÄ ”%£z ö‹yvþüy ¢‚…Äy £öì“þ
þ™yöìîûÐ

82. (c) xBþ=!œîû ¢›!ÜT £œ
= 36 (6 + 2 + 3 + 4 + 5 + 8 + 8)
 9 myîûy !î¦þy‹ÄÐ

83. (c) Ÿ“þ„þîûy þ™!îûî“Åþöì̃ îû £yîû

=
  15 –15

15 –15 %
100

 
  
 

=
–225 % –2.25%
100



}’yc„þ !‰þ£« îûy‹ßþº xy”yöìëûîû £Éyöì¢îû þ™!îû›y’ !˜öì”ÅŸ „þîûöìŠéÐ

84. (a) 20 !”öì̃  ë“þ x‚Ÿ „þy‹ „þîûy £öìëûöìŠé “þy £œ = 12 !”öì̃

ëy „þy‹ £öìëûöìŠé “þyîû 1
20 x‚Ÿ

= 1 312
20 5
 

85. (b) 55725-~îû ~„þöì„þîû xBþ = 5
735810éôé~îû ~„þöì„þîû xBþ = 9
Sxî!ŸÜTþ 2  (3)2 = 9)
22853éôé~îû ~„þöì„þîû xBþ = 2

  þîûy!Ÿ›yœy!Ýþîû ~„þöì„þîû xBþ  5 9 2  

= 16 xíÅyê– 6

86. (b) 19)  21 (1
       19
         2

  ²Ìy® xî!ŸÜT £œ 2Ð
87. (b) 5 xöìBþîû Ç%þo“þ› ¢‚…Äy = 10000.

10000-ö„þ 41 myîûy ¦þy† „þîûöìœ xî!ŸÜT íyöì„þ = 37.
²Ìy® ¢‚…Äy!Ýþ £œ = 10000 + (41 – 37)
    = 10004

88. (b) öë ›y¢ îû!îîyîû !”öìëû Öîû& £ëû ö¢£z ›yöì¢ îû!îîyöìîûîû
¢‚…Äy = 5
x˜Äy˜Ä !”öì̃ îû ö›yÝþ ¢‚…Äy = 30 – 5 = 25 !”˜Ð

þ™!îû”ŸÅöì„þîû ¢‚…Äyîû †vþü 510×5 + 25× 240=
30

= 285

89. (c) •!îû– „þ!þ™öìœîû îëû¢ x þîŠéîûÐ

  îîû&öì’îû îëû¢ = (42 – x) îŠéîûÐ

x 5 15
42 – x 5 11
 


x 25   îŠéîûÐ
  „þ!þ™öìœîû îëû¢ 25 îŠéîûÐ

90. (d)  
15 1×100% = 13 %

23100 +15

91. (c) „þyëÅ„þîû þ™!îûî“Åþ˜  –20 × 20
= 20 – 20 + – 4

100
 

 
 

  Ÿ“þ„þîûy Çþ!“þîû þ™!îû›y’ 4

92. (a) •!îû– x!“þ!îû_« !”˜ ¢‚…Äy = x

“þy£öìœ– 200 × 31 = (200 × 27) + (80 × x)

x =10

93. (b) ²Ìy® ö„þy’  11M 60H 2 

    11×3 60 8 2  
         = 75°
94. (b) ŸB%þîû xyëû“þ˜

1
36 12

3
  

3144 cm 
ë!” ö†yœöì„þîû îÄy¢y•Å £ëû r ö¢!›­–

“þy£öìœ 32
r 8 144

3
   

r 3   ö¢!›­Ð

95. (c) ›yàþ!Ýþîû öÇþešþœ 900
= = 720

1.25
 î†Å!›ÝþyîûÐ

›yàþ!Ýþîû ²Ìßþi 720
=

30
 = 24 !›ÝþyîûÐ

96. (a) A 1 ‡rÝþyëû þ™)’Å „þöìîû 1
=

18
 x‚ŸÐ

B 1 ‡rÝþyëû þ™)’Å „þöìîû 1
=

6
 x‚ŸÐ

 (A + B) þ~„þöìe þ™)’Å „þöìîû 1 1
= +

18 6
 
 
 

 x‚Ÿ

2

9
  x‚ŸÐ

 ”%!Ýþ ˜œ ~„þöìe 1
4

2
 ‡rÝþyëû ‹œy•yîû!Ýþ þ™)’Å „þîûöìîÐ

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 11– £z¢%Ä éôé 9  ‹y %̃ëûy!îû– 20246

97. (b)
30×3030 – 30 – %

100
 
 
 

= –9% þS– !‰þ£« £Éy¢ !˜öì”ÅŸ „þöìîûV
= öÇþešþœ 9% £Éy¢ þ™yöìîÐ

98. (a)
   n n – 3 5× 5 – 3

= = 5
2 2

99. (b) A-~îû †!“þöìî† 5
= 5×

18
 
 
 

!›Ýþyîû/ö¢öì„þuþ

100 !›Ýþyîû x!“e«› „þîûöì“þ A-~îû ¢›ëû œyöì†

18
= 100×

25
 
 
 

 ö¢öì„þuþ = 72 ö¢öì„þuþ

 92 !›Ýþyîû þ™í x!“þe«› „þîûöì“þ B-þ~îû ¢›ëû œyöì† éôôé
(72 + 8) = 80 ö¢öì„þuþÐ

 B-~îû †!“þöìî†
92 18

= ×
80 5
 
 
 

 !„þ!›/‡rÝþy

     = 4.14 !„þ!›/‡rÝþyÐ

100. (b) 12 36 18 54 27

×3 ÷2 ×3

81

÷2 ×3

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

——————


